1 ERBCEAER
11 #ERBri
(L5

(1) 22=90r& 2=

(2 22=50Dr & 2=

TE, 22 =-10D % =

TR

HERIZOWT...

1.2 RREMIC..
i RREEEHNE T 5.

() z4+yi=3+4i D% Fz,y ODEERD X.

(2) (z+y)+Br—2y)i =3+4i DL &, E z,y DIEEZRD K.

B)(z+y—6)+Br—y—20i=00Dr %, El x,y DEEK
» XK.

(4) (2+3i) + (3+T7i) ZFHEE X.

(5) (2= 5i) +2(—1 + 4i) BFEH &.



1.3 HRBIERY
T zatHEe L.

(6) (2+3i) — (3+ 7i) BEEY X. 1) (3204 520

(2) (3 +2i)(3 — 2i)

(7) 3(2 = 5i) — (1 — 4i) ®EHEHE X,

w2

RERY

N

~

(8) (2+3i)(3+T7i) ZAHEE X.

UTFOEE a b HEREZB D2 VZ. £/, a+bab BFTE

B
1) a=1-2i
(9) (2 —5i)(1 — 4) ZFEE X,
@ az —1+/3i




1.4 BRE

sl

2+ 3¢
1424

L
e k.
3—27
4+ 51

2+ 30
1—-2

5+ 2
3i—1

1.5 BOFAHR

fite

=101
(2]

e 2FLTHITRDIEI...

¢ 2FLT-H TR

A DFITR

a>00DrE, —a DFEHTRIZT

i
LT 0% i 2V TRE.

1) v—4

(3) —18 DFHHR



151 &
BOROTHIRE GTFEICOVWTEZ 5. flE EIN
a, b 13FEREF 5. Javb = Vab D
V—6v=3=

Gl
(1) v=6v-8

i1t

=i

—
=~
Nt
woll D




2 2 RHEROR "
m ZERE T 5. LT O 2 XTEADBOREEZ I &

LUTF o 2 K58 %, HWEBEH TR . )
(1) 22 +mz+4=0

(1) 224+3z+1=0

(2) 222 —32+1=0

(2) 22+ (m+1r+1=0

(3) 2 +V2x+1=0

4) 22 +z2+1=0
(4)




3 RLFBORRG - BREE

31 Y5HEFETH.
XA ER 2+ 32 +4=00 200k o, F 5. LTD
filfi% R k.

(1) a+p

(2) of

(3) o +p?

(4) o® +p°

R%E

DED ..

CHZEHLT, SETERMEZENTVL.



32 M@l
TRFERK 22 -3 +4=0D 20D E o, T B. LT
DIz KD K.

(1) a+p

(2) of

(3) o +p?

(4) o+ °

33 ME&E2
DToRWZEZ X.

(1) 2 XK 22 — 624+ m = 01ZBNWT, 1 DDMEDMLDIED 2
BETH2LE, Fm DL 2 ODRERD k.

(2) 2GR 22+ 32 4+m=01BVWT, 2 DDMRDEN 1T
HoHrE, ERm DEE 2 ODFERD XK.

(3) 2 XSGR 222 — Tz + m = 0 IZBVT, 1 DOMRHHDIHRD
4fETHZ %, FRm DL 2 DDEERD .



34 &3

R C RO R &

(1) 22+ +2

(2) 422 +1

(3) z* — 16

(4) 22 +2x+1

35 FIE4
(1) MUTo28efme s 2 2 00582 Fh
(a) 2,-3

(e) 1++/3i,1—+/3i

(2) 2 XABERK 22 +204+6=0D220f% o, L THLE,
LT 2 #zicdo 2 KRR 2 EN.
(a) a—1,8-1

M) a?,p?



36 RS

T of&ftzimizd 2 BeRD X.

(1) #1285 T, 43 6

(2) A123 2, Hins 4

(3) MI23 2 T, Hins 3

(4) F1As —2 T, Fid' 6

(5) F1HHD 3



3.7 FE6

(1) 2 AR 22 4+ 2(m — 3)x + 4m = 0 4%, AT D & 5 72fif%
Fror &, EHom OEOHPZRD XK.
(a) #7225 2 DDIEDSR.

(b) EDfEr BDfE.




4 BlofcRD

41 FRRE1

Plx)=a®+2? + 3z +1%, LTO 1 XX TH->7RD &R
» XK.

(1) z+1

(2) z—2




42 FERE2
(1) ZHKX P(z) Z 2 — 1 TEHlo72RDP 5, 2+ 2 THIoRD (2) ZHKX P(z) 2 2 —3 THlo72RDP 1, 2+ 1 THIoZRD
MB—-1ThH3. Pla) % (x—1)(x+2) THoZRYERD X. HB5THS. Plx) % (z—3)(x+1) TEI-oZRD ZRD L.




5 RA#IE sRAREN

5.1 REHIE
LUF oz RB e .

(1) 2® — 622+ 11z — 6

(2) 223 — 1122 4+ 172 — 6

(3) 2* — 1322 + 36

(4) 92 =922 —z +1

(5) 2 +222 - 52 —6



52 BXAER

DUT 77 Rl % 1 SR P CHgLT

(1) 23+1=0

(2) 22 +8=0

(3) z* —4224+3=0

(4) 2 —1=0

(5) 23 +322-22-2=0

(6) 22 — 22 -3z —-6=0



53 BHSHRE

Bl [
a,bEE BT IXTER B3 +322+ar+b=02,1-2i | a,bZE T2 3IXHER > +22+ar+b=07,14+i %
ERRICHOL & ER a, b DEERD L. F/z, hofifzked X. fRICHDO L X Efa, b DEERD K. Tz, L%z K X.

Al




